Example of a signaling equilibrium when education does increase productivity

J -
{productivity: 4+e productivity: 8+e

cost: C, (e) F4e and  Type H: {cost: C, (e)

wage Ste
woye = 8+ ¢, ~
/ 4+e
8
/-'7
WO'KA'__\_ e, 4
o education e
¢, et e

1
For a signaling equilibrium we need:
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Suppose that 50% of the population is Type L and 50% 1s Type H.

Consider a signaling equilibrium with e =3
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Force everybody to choose e = 0 and force employers to pay
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An example with three types

Type A: productivity 10, cost C (y)=ay
Type B: productivity 15, cost C,(y)=by
Type C: productivity 20, cost C.(y)=cy
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For a separating signaling equilibrium we need:
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Necessary conditions for Type A: 10 > 15 -ay Y=o belr
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Index vs signal
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